v ¢ —_—
7 113&;«1 &Wﬁﬁmﬂg B o==> RT 7
1 NS: E=y¢tHE 5RERKGEO) -9 6 NS: 1']2% $a¢1E(F>ﬁC) 8 P:| 5. 36 : 14 64| Total VP: 67.90 Rank:
EW: $8{—5k MhEEREAC) -8 EW: &G /228 (B0) 9 IMP:| 24 : 41 3
— -
#1 aJ 4CE5 -150 Mean: 4CE5 150 6.0 1 |[# 2 » AQ6 6NN6 1440 Mean: 6SS6 1430 6.0 2
v KQ9853 5HXS-3 -500 -380 5HXN-2 300 20 1 v AKT 6SS6 1430 1180 6NN6 1440 6.0 2
+ QT742 Dif: 350 NS:6 5CE5 400 1.0 1 ¢ J74 Dif: 10 NS:6 4SS6 680 -11.0 2
»8 IMP: 8 EW:3 3NW4 430 20 1 & QJT8 IMP: 0 EW:-6
4 AT863 » K2 5HXS-3 500 3.0 1 ||aT73 a J5
v J7 v 642 3HXN-3 -500 -3.0 1 v Q9876 I v J432
¢ AK3 * J96 ¢ 962 + QT8
& AJ6 » KQ954 & 76 & A953
¢V BN 4Q9754 % ¢ VAN 4 K842
N ~~~~~ v AT N 65~66 95
§ ~~~~~ ¢85 S 65~66 ¢ AK53
E 5~~41 &T732 E ~~~~~ & K42
W 5~~41 W ~~~~~
#3 » AQ3 4S5S4 420 Mean: 4SS4 420 00 6 ||#4 » J96 6CW6 -1370 Mean: 5CW6 620 9.0 1
v 985 4S5S4 420 420 v 93 6SW6 -1430 -1030 4SE6 680 8.0 1
¢ KT73 Dif: 0 NS:0 + Q9765 Dif: 60 NS:-8 4HE6 680 8.0 1
& Q93 IMP: 0 EW:0 & 864 IMP: 2 EW:9 6CW6 1370 -8.0 1
» K82 & AT54 & KQ72 6SW6 1430 9.0 2
v Q732 v AK2 + v QT65
¢ 65 ¢+ 43 ¢+ K
& A542 & AKT7 » QJ92
oo VAN 4,83
N ~~~~~ v J874
S ~~~~~ ¢ AJT82
E 6~562 &53
W 6 ~56 2
#5 & KJ8543 6DE7 -940 Mean: 5DE6 420 50 1 #6 ' 4SS-1 -50 Mean: 5DN5 400 70 1
v Q 4HW?7 -510 -620 5HW6 480 40 1 v AJ8742 3SS4170 130  3SS5 200 2.0 1
*J4 Dif: -430 NS:-8 4HW6 480 40 1 + KQ954 Dif: -220 NS:-5 3SS4 170 1.0 1
» QJ98 IMP: -10 EW:-3 4HW7 510 3.0 1 & A9 IMP: -6 EW:-1 3HS3 140 00 1
62 A 6DE7 940 -80 2 ||as 63 # K8542 488-1 50 5.0 1
v AK9432 v T86 v T653 — v KQ9 4HN-1 -50 50 1
¢ T53 + AKQ972 * A2 ¢ J8
A & KT75 & KJT73 & 864
%o ¢ VAN 4ATI7 ¢ VAN 4 AQITI7
N ~~~~~ v J75 N ~6~~1w
§ ~~~~~ + 86 S ~6~~1 ¢T763
E ~77~1 #6432 E ~~~~~ & Q52
W ~77-~1 W ~~~~~
#7 » AQ6 3NS-2-200 Mean: 3NN3 600 120 1 ||#8 » KT96 3NW4 -430 Mean: 3NW-1 50 90 1
v J64 3NS-1-100 -10  3NS-1 100 -30 3 v J3 3NW-150 -360 3NE3 400 1.0 1
+ KT654 Dif: -100 NS:-5 3NS-2 200 -50 2 ¢ 97 Dif: -480 NS:-2 3NW4 430 20 1
& K7 IMP: -3 EW:3 & QJT65 IMP: -10 EW:-9 3NE4 430 20 1
a J4 & T9732 a7 & AJ42 3NES -460 -3.0 1
v KT872 + v Qo3 v KQ52 v 987 INW6 490 40 1
¢ J7 * A92 ¢ AJ6543 ¢ KT8
& Q542 S » 63 » K2 » A93
%o ¢ VAN o KS85 o VAN 4, Q853
N 45~~4 9A5 N ~~~~~ v AT64
S 45~~2 +Q83 S ~~~~~ . Q2
E ~~~~~ & AJT98 E ~64~5 &874
W ~~~~~ W ~64~3
#9 & K8 3NN-1-50 Mean: 3NN-1 -50 20 2 (|#10 s T97 5DE6 -620 Mean: 1HE5 200 120 1
v A964 3SE4 -170 -100 3DS-2 4100 00 2 v Q874 5DE6 -620 -810  5DE6 620 50 2
+ AK85 Dif: 120 NS:2 3SE4 470 20 1 * J94 Dif: 0 NS:5 4HW6 680 4.0 1
» KT8 IMP: 3 EW:2 3NN-3 150 20 1 & AJ5 IMP: 0 EW:-5 6DW6 1370 -11.0 1
s T65 » AQJ42 » 864 » AK 6DE6 1370 -11.0 1
v KQT872 v v T93 _I_ v AKJ52
3 ¢ T642 + Q865 ¢ AKT73
& J753 » AQ64 » 763 » K
o VABN 4,973 %o VAN 4 QJS532
N ~1~~1 ¢J53 N ~~~~~ v6
S ~1~~~ ¢QJ973 S ~~~~~ *2
E 6~~5~ 92 E ~66~1 & QT9842
W6~~5~ W ~66~1
# 11 » QJT32 3NE3 -400 Mean: 3NW-1 50 50 1 ||#12 » Q86 4HW6 -480 Mean: 4HW6 480 8.0 2
w7 3NE-150 -120 3NE-1 50 50 2 v 632 6HW6 -980 -810 6HW6 980 -50 4
¢ 83 Dif: -450 NS:-7 2HE2 110 00 1 ¢ T6 Dif: 500 NS:8
& JT763 IMP: -10 EW:-5 3NE3 400 7.0 2 & 17642 IMP: 11 EW:5
& K6 & A754 a4 & AK753
v K98643 vJ v KQJT94 | v 87
¢ 962 ¢ AQT5 ¢+ QJ5 ¢ AK872
& A8 » KQ54 » AQ9 a8
o ¢VABN 498 oo VAN 4, JT92
N ~~~~~ v AQT52 N ~~~~~ v A5
S ~~~~~ * KJ74 S ~~~~~ ¢ 943
E ~44~3 92 E ~66~6 &KJ53
W ~33~3 W ~66~6
#13 » KQJ2 3NN4 630 Mean: 2SXW-3 800 40 1 # 14 4 T82 3SW4 -170 Mean: 2SW2 110 1.0 1
v K85 3NN4 630 640  3NN5 660 1.0 1 v 9873 2SW2 -110 -140  1NE2 4120 1.0 1
¢ JT873 Dif: 0 NS:0 3NN4 630 00 3 + AK Dif: -60 NS:-1 2SE3 140 0.0 2
*Q IMP: 0 EW:0 2SXE-2 500 -40 1 » 6543 IMP: -2 EW:-1 3SwW4 470 1.0 1
& AT854 ] # 63 » A643 » QJ95 2sw4 470 1.0 1
v T6 v J972 v J52 v AKT6
+ AKQ62 + * 54 + Q854 *J3
&3 » JT865 K9 & T82
¢ VABN 4,97 o ¢VABN 4 K7
N 3~3~3 vAQ43 N ~~~~~ v Q4
S 3~3~3 9 S ~~~~~ ¢ T9762
E ~~~~~ & AK9742 E ~~343 &AQJ7
W ~~~~~ W ~~343




113#FF >2ABERFHLE

==)> R7

7

#1: 3 [E£(90.08) #2: 2 FE(T5. 92) #3: 1 E(67.9)

2 NS: B BUEIR(BHO) 20 4 NS: BREEEE Si2{_(BAC) 4 1419 : 5.81 Total VP: 75.92 Rank:
EW: Zi¢tE S5 =EAC) 4 EW: XX RiEi(BIO) -2 IMP:| 24 : 9 2
— -
#1 aJ 5CE5 -400 Mean: 4CE5 150 6.0 1 |[# 2 » AQ6 6NN6 1440 Mean: 6SS6 1430 6.0 2
v KQ9853 5HXN-2 -300 -380 5HXN-2  -300 20 1 v AKT 6SS6 1430 1180 6NN6 1440 6.0 2
+ QT742 Dif: -100 NS:-1 5CE5 400 1.0 1 ¢ J74 Dif: 10 NS:6 4SS6 680 -11.0 2
»8 IMP: -3 EW:-2 3NW4 430 20 1 & QJT8 IMP: 0 EW:-6
4 AT863 » K2 5HXS-3 500 3.0 1 ||s T73 s J5
v J7 v 642 3HXN-3 -500 -3.0 1 v Q9876 I v J432
¢ AK3 * J96 ¢ 962 + QT8
& AJ6 » KQ954 & 76 & A953
¢V BN 4Q9754 % ¢ VAN 4 K842
N ~~~~~ v AT N 65~66 95
§ ~~~~~ ¢85 S 65~66 ¢ AK53
E 5~~41 &T732 E ~~~~~ & K42
W 5~~41 W ~~~~~
#3 » AQ3 4S5S4 420 Mean: 4SS4 420 00 6 ||#4 » J96 5CW6 -620 Mean: 5CW6 620 9.0 1
v 985 4S5S4 420 420 v 93 4HEG6 -680 -1030 4SE6 680 8.0 1
¢ KT73 Dif: 0 NS:0 + Q9765 Dif: 60 NS:9 4HE6 680 8.0 1
& Q93 IMP: 0 EW:0 & 864 IMP: 2 EW:-8 6CW6 1370 -8.0 1
» K82 & AT54 & KQ72 6SW6 1430 9.0 2
v Q732 v AK2 + v QT65
¢ 65 ¢+ 43 ¢+ K
& A542 & AKT7 » QJ92
oo VAN 4,83
N ~~~~~ v J874
S ~~~~~ ¢ AJT82
E 6~562 &53
W 6 ~56 2
#5 & KJ8543 5HW6 -480 Mean: 5DE6 420 50 1 #6 ' 3HS3 140 Mean: 5DN5 400 70 1
v Q 5DE6 -420 -620 5HW6 480 40 1 v AJ8742 3SS5200 130 3SS5 200 2.0 1
*J4 Dif: -60 NS:4 4HW6 480 40 1 + KQ954 Dif: -60 NS:0 3SS4 170 1.0 1
» QJ98 IMP: -2 EW:-5 4HW? 510 3.0 1 & A9 IMP: -2 EW:-2 3HS3 140 00 1
62 A 6DE7 940 -80 2 ||as 63 # K8542 488-1 50 5.0 1
v AK9432 v T86 v T653 — v KQ9 4HN-1 -50 50 1
¢ T53 + AKQ972 * A2 ¢ J8
A & KT75 & KJT73 & 864
%o ¢ VAN 4ATI7 ¢ VAN 4 AQITI7
N ~~~~~ v J75 N ~6~~1w
§ ~~~~~ + 86 S ~6~~1 ¢T763
E ~77~1 #6432 E ~~~~~ & Q52
W ~77-~1 W ~~~~~
#7 » AQ6 3NS-1-100 Mean: 3NN3 600 120 1 ||#8 » KT96 3NE5 -460 Mean: 3NW-1 50 90 1
v J64 3NS-2-200 -10  3NS-1 100 -30 3 v J3 3NW6 -490 -360 3NE3 400 1.0 1
+ KT654 Dif: 100 NS:-3 3NS-2 200 -50 2 ¢ 97 Dif: 30 NS:-3 3NW4 430 20 1
& K7 IMP: 3 EW:5 & QJT65 IMP: 1 EW:4 3NE4 430 20 1
a J4 & T9732 a7 & AJ42 3NES -460 -3.0 1
v KT872 + v Qo3 v KQ52 v 987 INW6 490 40 1
¢ J7 * A92 ¢ AJ6543 ¢ KT8
& Q542 S » 63 » K2 » A93
%o ¢ VAN o KS85 o VAN 4, Q853
N 45~~4 9A5 N ~~~~~ v AT64
S 45~~2 +Q83 S ~~~~~ . Q2
E ~~~~~ & AJT98 E ~64~5 &874
W ~~~~~ W ~64~3
#9 & K8 3DS-2 -100 Mean: 3NN-1 -50 20 2 (|#10 s T97 4HWG6 -680 Mean: 1HE5 200 120 1
v A964 3NN-1-50 -100 3DS-2 4100 00 2 v Q874 6DW6 -1370 -810  5DE6 620 50 2
+ AK85 Dif: -50 NS:0 3SE4 470 20 1 * J94 Dif: 690 NS:4 4HW6 680 4.0 1
» KT8 IMP: -2 EW:-2 3NN-3 150 20 1 & AJ5 IMP: 12 EW:11 6DW6 1370 -11.0 1
s T65 » AQJ42 » 864 » AK 6DE6 1370 -11.0 1
v KQT872 v v T93 _I_ v AKJ52
3 ¢ T642 + Q865 ¢ AKT73
& J753 » AQ64 » 763 » K
o VABN 4,973 %o VAN 4 QJS532
N ~1~~1 ¢J53 N ~~~~~ v6
S ~1~~~ ¢QJ973 S ~~~~~ *2
E 6~~5~ 92 E ~66~1 & QT9842
W6~~5~ W ~66~1
# 11 » QJT32 3NW-150 Mean: 3NW-1 50 50 1 ||#12 » Q86 6HW6 -980 Mean: 4HW6 480 8.0 2
w7 3NE-150 -120 3NE-1 50 50 2 v 632 6HW6 -980 -810 6HW6 980 -50 4
¢ 83 Dif: 0 NS:5 2HE2 110 00 1 ¢ T6 Dif: 0 NS:-5
& JT763 IMP: 0 EW:-5 3NE3 400 7.0 2 & 17642 IMP: 0 EW:5
& K6 & A754 a4 & AK753
v K98643 vJ v KQJT94 | v 87
¢ 962 ¢ AQT5 ¢+ QJ5 ¢ AK872
& A8 » KQ54 » AQ9 a8
o ¢VABN 498 oo VAN 4, JT92
N ~~~~~ v AQT52 N ~~~~~ v A5
S ~~~~~ + KJ74 S ~~~~~ ¢ 943
E ~44~3 92 E ~66~6 &KJ53
W ~33~3 W ~66~6
#13 » KQJ2 2SXW-3 800 Mean: 2SXW-3 800 40 1 # 14 4 T82 2SE3 -140 Mean: 2SW2 110 1.0 1
v K85 3NN4 630 640  3NN5 660 1.0 1 v 9873 2SW4 -170 -140 1NE2 120 10 1
¢ JT873 Dif: 170 NS:4 3NN4 630 00 3 + AK Dif: 30 NS:0 2SE3 140 0.0 2
*Q IMP: 5 EW:0 2SXE-2 500 -40 1 » 6543 IMP: 1 EW:1 3sw4 470 1.0 1
& AT854 ] # 63 » A643 & QJ95 2sw4 470 1.0 1
v T6 v J972 v J52 v AKT6
+ AKQ62 + * 54 + Q854 *J3
&3 » JT865 K9 & T82
¢ VABN 4,97 o ¢VABN 4 K7
N 3~3~3 vAQ43 N ~~~~~ v Q4
S 3~3~3 9 S ~~~~~ ¢ T9762
E ~~~~~ & AK9742 E ~~343 &AQJ7
W ~~~~~ W ~~343




v ¢ —_—
7 113&;«1 &Wﬁﬁmﬂg B o==> RT 7
3 NS: #iE BEEBHGHO) 17 5 NS: Fii‘éi’i HEE(EﬁC) -44 P:| 19. 08 : 0 92 Total VP: 90.08 Rank:
EW: #FiE T BGEEIC) 48 EW: $3HE ZHEE(F0) 1 IMP:| 67 : 21 1
-
#1 aJ 3HXN-3 -500 Mean: 4CE5 150 6.0 1 |[# 2 » AQ6 4SS6 680 Mean: 6SS6 1430 6.0 2
v KQ9853 3NW4 -430 -380 5HXN-2  -300 2.0 1 v AKT 4SS6 680 1180 6NN6 1440 6.0 2
+ QT742 Dif: -70 NS:-3 5CE5 400 1.0 1 ¢ J74 Dif: 0 NS:-11 4SS6 680 -11.0 2
»8 IMP: -2 EW:2 3NW4 430 20 1 & QJT8 IMP: 0 EW:11
4 AT863 » K2 5HXS-3 500 3.0 1 ||aT73 a J5
v J7 v 642 3HXN-3 -500 -3.0 1 v Q9876 I v J432
¢ AK3 * J96 ¢ 962 + QT8
& AJ6 » KQ954 » 76 & A953
¢V BN 4Q9754 % ¢ VAN 4 K842
N ~~~~~ v AT N 65~66 v5
S ~~~ -~ -~ ¢85 S 65~66 ¢ AK53
E 5~~41 &T732 E ~~~~~ » K42
W 5~~41 W ~~~~~
#3 » AQ3 4S5S4 420 Mean: 4SS4 420 00 6 ||#4 » J96 4SE6 -680 Mean: 5CW6 620 9.0 1
v 985 4S5S4 420 420 v 93 6SW6 -1430 -1030 4SE6 680 8.0 1
¢ KT73 Dif: 0 NS:0 + Q9765 Dif: 750 NS:8 4HE6 680 8.0 1
& Q93 IMP: 0 EW:0 & 864 IMP: 13 EW:9 6CW6 1370 -8.0 1
aT7 » K82 & AT54 & KQ72 6SW6 1430 9.0 2
v J64 v Q732 v AK2 + v QT65
¢ 982 ¢ 65 ¢+ 43 ¢+ K
& KJT87 & A542 & AKT7 » QJ92
L X2 oo VAN 4,83
N ~~~~~ v J874
S ~~~~~ ¢ AJT82
E 6~562 &53
W 6 ~56 2
#5 & KJ8543 4HW6 -480 Mean: 5DE6 420 50 1 #6 ' 4HN-1 -50 Mean: 5DN5 400 70 1
v Q 6DE7 -940 -620 5HW6 480 40 1 v AJ8742 5DN5 400 130  3SS5 200 2.0 1
*J4 Dif: 460 NS:4 4HW6 480 40 1 + KQ954 Dif: -450 NS:-5 3SS4 170 1.0 1
» QJ98 IMP: 10 EW:8 4HW?7 510 3.0 1 & A9 IMP: -10 EW:-7 3HS3 140 00 1
62 A 6DE7 940 -80 2 ||as 63 # K8542 488-1 50 5.0 1
v AK9432 v T86 v T653 — v KQ9 4HN-1 -50 50 1
¢ T53 + AKQ972 * A2 ¢ J8
A & KT75 & KJT73 & 864
%o ¢ VAN 4ATI7 ¢ VAN 4 AQITI7
N ~~~~~ v J75 N~6~~1w
S ~~~~~ ¢ 86 S ~6~~1 ¢T763
E ~77~1 %6432 E ~~~~~ % Q52
W~77~1 W ~~~~~
#7 » AQ6 3NN3 600 Mean: 3NN3 600 120 1 ||#8 » KT96 3NE3 -400 Mean: 3NW-1 50 90 1
v J64 3NS-1-100 -10  3NS-1 100 -30 3 v J3 3NE4 -430 -360 3NE3 400 1.0 1
+ KT654 Dif: 700 NS:12 3NS-2 200 -50 2 ¢ 97 Dif: 30 NS:-1  3NW4 430 20 1
& K7 IMP: 12 EW:3 & QJT65 IMP: 1 EW:2 3NE4 430 20 1
a J4 & T9732 a7 & AJ42 3NES -460 -3.0 1
v KT872 + v Qo3 v KQ52 v 987 INW6 490 40 1
¢ J7 * A92 ¢ AJ6543 ¢ KT8
& Q542 S » 63 » K2 » A93
%o ¢ VAN o KS85 o o¢VABN 4, Q853
N 45~~4 9A5 N ~~~~~ v AT64
S 45~~2 +Q83 S ~~~~~ * Q2
E ~~~~~ & AJT98 E ~64~5 &874
W ~~~~~ W ~64~3
#9 » K8 3NN-3 -150 Mean: 3NN-1 -50 20 2 (|#10 s T97 1HES5 -200 Mean: 1HE5 200 120 1
v A964 3DS-2-100 -100 3DS-2 4100 00 2 v Q874 6DE6 -1370 -810  5DE6 620 50 2
+ AK85 Dif: -50 NS:-2 3SE4 470 20 1 ¢ J94 Dif: 1170 NS:12 4HW6 680 4.0 1
» KT8 IMP: -2 EW:0 3NN-3 150 20 1 & AJ5 IMP: 15 EW:11 6DW6 1370 -11.0 1
s T65 » AQJ42 » 864 » AK 6DE6 1370 -11.0 1
v KQT872 v v T93 _I_ v AKJ52
3 ¢ T642 + Q865 ¢ AKT73
& J753 » AQ64 » 763 » K
o VABN 4,973 %o VAN 4 QJS532
N ~1~~1 ¢J53 N ~~~~~ v6
S ~1~~~ ¢QJ973 S ~~~~~ *2
E 6~~5~ 92 E ~66~1 & QT9842
W6~~5~ W ~66~1
# 11 » QJT32 3NE3 -400 Mean: 3NW-1 50 50 1 ||#12 » Q86 4HW6 -480 Mean: 4HW6 480 8.0 2
w7 2HE2 -110 -120  3NE-1 50 50 2 v 632 6HW6 -980 -810 6HW6 980 -50 4
¢ 83 Dif: -290 NS:-7 2HE2 110 00 1 ¢ T6 Dif: 500 NS:8
& JT763 IMP: -7 EW:0 3NE3 400 7.0 2 & 17642 IMP: 11 EW:5
& K6 & A754 a4 & AK753
v K98643 vJ v KQJT94 | v 87
¢ 962 ¢ AQT5 ¢+ QJ5 ¢ AK872
& A8 » KQ54 » AQ9 a8
o VABN 4,9 * ¢ VAN o JT92
N ~~~~~ v AQT52 N ~~~~~ v A5
S ~~~~~ + KJ74 S ~~~~~ ¢ 943
E ~44~3 92 E ~66~6 &KJ53
W ~33~3 W ~66~6
#13 » KQJ2 3NN5 660 Mean: 2SXW-3 800 40 1 # 14 4 T82 1NE2 -120 Mean: 2SW2 110 1.0 1
v K85 2SXE-2 500 640  3NN5 660 1.0 1 v 9873 2SE3 -140 -140  1NE2 4120 1.0 1
¢ JT873 Dif: 160 NS:1  3NN4 630 00 3 + AK Dif: 20 NS:1 2SE3 140 0.0 2
*Q IMP: 4 EW:4 2SXE-2 500 -40 1 » 6543 IMP: 1 EW:0 3sw4 470 1.0 1
& AT854 ] # 63 » A643 » QJ95 2sw4 470 1.0 1
v T6 v J972 v J52 v AKT6
+ AKQ62 + * 54 + Q854 +J3
&3 » JT865 K9 & T82
¢ VABN 4,97 o ¢VABN 4 K7
N 3~3~3 vAQ43 N ~~~~~ v Q4
S 3~3~3 9 S ~~~~~ ¢ T9762
E ~~~~~ & AK9742 E ~~343 &AQJ7
W ~~~~~ W ~~343




113#FF >2ABERFHLE

==)> R7

7

#1: 3 [E£(90.08) #2: 2 FE(T5. 92) #3: 1 E(67.9)

4 NS: BREESH =2 (FHC) 4 2 NS: BRE# EREI5(F0) 20 5.81 14.19| Total VP: 65.50 Rank:
EW: Bk BEMEI0) 20 EW: BB fE RiE5(BAC) -4 IMP:| 9 24 5
— -
#1 aJ 5CE5 400 Mean: 4CE5 150 6.0 1 |[# 2 » AQ6 6NN6 -1440 Mean: 6SS6 1430 6.0 2
v KQ9853 5HXN-2 300 -380 5HXN-2  -300 20 1 v AKT 6SS6 -1430 1180 6NN6 1440 6.0 2
+ QT742 Dif: 100 NS:2 5CE5 400 1.0 1 ¢ J74 Dif: -10 NS:6 4SS6 680 -11.0 2
»8 IMP: 3 EW:1 3NW4 430 20 1 & QJT8 IMP: 0 EW:-6
4 AT863 » K2 5HXS-3 500 3.0 1 ||s T73 s J5
v J7 v 642 3HXN-3 -500 -3.0 1 v Q9876 I v J432
¢ AK3 * J96 ¢ 962 + QT8
& AJ6 » KQ954 & 76 & A953
¢V BN 4Q9754 % ¢ VAN 4 K842
N ~~~~~ v AT N 65~66 95
§ ~~~~~ ¢85 S 65~66 ¢ AK53
E 5~~41 &T732 E ~~~~~ & K42
W 5~~41 W ~~~~~
#3 » AQ3 4S5S4 -420 Mean: 4SS4 420 00 6 ||#4 » J96 5CW6 620 Mean: 5CW6 620 9.0 1
v 985 4S5S4 -420 420 v 93 4HEG6 680 -1030 4SE6 680 8.0 1
¢ KT73 Dif: 0 NS:0 + Q9765 Dif: -60 NS:8 4HE6 680 8.0 1
& Q93 IMP: 0 EW:0 & 864 IMP: -2 EW:-9 6CW6 1370 -8.0 1
» K82 & AT54 & KQ72 6SW6 1430 9.0 2
v Q732 v AK2 + v QT65
¢ 65 ¢+ 43 ¢+ K
& A542 & AKT7 » QJ92
oo VAN 4,83
N ~~~~~ v J874
S ~~~~~ ¢ AJT82
E 6~562 &53
W 6 ~56 2
#5 & KJ8543 5HW6 480 Mean: 5DE6 420 50 1 #6 ' 3HS3 -140 Mean: 5DN5 400 70 1
v Q 5DE6 420 -620 5HW6 480 40 1 v AJ8742 3SS5-200 130 3SS5 200 2.0 1
*J4 Dif: 60 NS:5 4HW6 480 40 1 + KQ954 Dif: 60 NS:2 3SS4 170 1.0 1
» QJ98 IMP: 2 EW:-4 4HW? 510 3.0 1 & A9 IMP: 2 EW:0 3HS3 140 00 1
62 A 6DE7 940 -80 2 ||as 63 # K8542 488-1 50 5.0 1
v AK9432 v T86 v T653 — v KQ9 4HN-1 -50 50 1
¢ T53 + AKQ972 * A2 ¢ J8
A & KT75 & KJT73 & 864
%o ¢ VAN 4ATI7 ¢ VAN 4 AQITI7
N ~~~~~ v J75 N ~6~~1w
§ ~~~~~ + 86 S ~6~~1 ¢T763
E ~77~1 #6432 E ~~~~~ & Q52
W ~77-~1 W ~~~~~
#7 » AQ6 3NS-1100 Mean: 3NN3 600 120 1 ||#8 » KT96 3NE5 460 Mean: 3NW-1 50 90 1
v J64 3NS-2200 -10  3NS- 100 -30 3 v J3 3NW6 490 -360 3NE3 400 1.0 1
+ KT654 Dif: -100 NS:-5 3NS-2 200 -50 2 ¢ 97 Dif: -30 NS:-4 3NW4 430 20 1
& K7 IMP: -3 EW:3 & QJT65 IMP: -1 EW:3 3NE4 430 20 1
a J4 & T9732 a7 & AJ42 3NES -460 -3.0 1
v KT872 + v Qo3 v KQ52 v 987 INW6 490 40 1
¢ J7 * A92 ¢ AJ6543 ¢ KT8
& Q542 S » 63 » K2 » A93
%o ¢ VAN o KS85 o VAN 4, Q853
N 45~~4 9A5 N ~~~~~ v AT64
S 45~~2 +Q83 S ~~~~~ . Q2
E ~~~~~ & AJT98 E ~64~5 &874
W ~~~~~ W ~64~3
#9 & K8 3DS-2 100 Mean: 3NN-1 -50 20 2 (|#10 s T97 4HW6 680 Mean: 1HE5 200 120 1
v A964 3NN-150 -100 3DS-2 4100 00 2 v Q874 6DW6 1370 -810  5DE6 620 50 2
+ AK85 Dif: 50 NS:2 3SE4 470 20 1 * J94 Dif: -690 NS:-11 4HW6 680 4.0 1
» KT8 IMP: 2 EW:0 3NN-3 150 20 1 & AJ5 IMP: -12 EW:-4 6DW6 1370 110 1
s T65 » AQJ42 » 864 » AK 6DE6 1370 -11.0 1
v KQT872 v v T93 _I_ v AKJ52
3 ¢ T642 + Q865 ¢ AKT73
& J753 » AQ64 » 763 » K
o VABN 4,973 %o VAN 4 QJS532
N ~1~~1 ¢J53 N ~~~~~ vb6
S ~1~~~ ¢QJ973 S ~~~~~ *2
E 6~~5~ 92 E ~66~1 & QT9842
W6~~5~ W ~66~1
# 11 » QJT32 3NW-1-50 Mean: 3NW-1 50 50 1 ||#12 » Q86 6HW6 980 Mean: 4HW6 480 8.0 2
w7 3NE-1-50 -120  3NE-1 50 50 2 v 632 6HW6 980 -810 6HWS6 980 -5.0 4
¢ 83 Dif: 0 NS:5 2HE2 110 00 1 ¢ T6 Dif: 0 NS:-5
& JT763 IMP: 0 EW:-5 3NE3 400 7.0 2 & 17642 IMP: 0 EW:5
& K6 & A754 a4 & AK753
v K98643 vJ v KQJT94 | v 87
¢ 962 ¢ AQT5 ¢+ QJ5 ¢ AK872
& A8 » KQ54 » AQ9 a8
o ¢VABN 498 oo VAN 4, JT92
N ~~~~~ v AQT52 N ~~~~~ v A5
S ~~~~~ * KJ74 S ~~~~~ ¢ 943
E ~44~3 92 E ~66~6 &KJ53
W ~33~3 W ~66~6
#13 » KQJ2 2SXW-3 -800 Mean: 2SXW-3 800 40 1 # 14 4 T82 2SE3 140 Mean: 2SW2 110 1.0 1
v K85 3NN4 -630 640  3NN5 660 1.0 1 v 9873 2SW4 170 -140 1NE2 120 10 1
¢ JT873 Dif: -170 NS:0 3NN4 630 00 3 + AK Dif: -30 NS:-1 2SE3 140 0.0 2
*Q IMP: -5 EW:-4 2SXE-2 500 -40 1 » 6543 IMP: -1 EW:0 3Sw4 470 1.0 1
& AT854 ] # 63 » A643 & QJ95 2sw4 470 1.0 1
v T6 v J972 v J52 v AKT6
+ AKQ62 + * 54 + Q854 *J3
&3 » JT865 K9 & T82
¢ VABN 4,97 o ¢VABN 4 K7
N 3~3~3 vAQ43 N ~~~~~ v Q4
S 3~3~3 9 S ~~~~~ ¢ T9762
E ~~~~~ & AK9742 E ~~343 &AQJ7
W ~~~~~ W ~~343




113#FF >2ABERFHLE

==)> R7

7

#1:3 Elé(% 08) #2: 2 F=1E(75. 92) #3: 1 E(67.9)

5 NS: B2z FEEREGEAC) 48 3 S: #tiRiE MER(FO) 17| 0.92 19.08 | Total VP: 53.92 Rank:
EW: BN =EZEEH0) -17 EW: &R i&3T 1BAREE(BAC) 4 IMP:| 21 : 67 6
-
#1 aJ 3HXN-3 500 Mean: 4CE5 150 6.0 1 |[# 2 » AQ6 4SS6 -680 Mean: 6SS6 1430 6.0 2
v KQ9853 3NW4 430 -380 5HXN-2  -300 20 1 v AKT 4SS6 -680 1180 6NN6 1440 6.0 2
+ QT742 Dif: 70 NS:-2 5CE5 400 1.0 1 ¢ J74 Dif: 0 NS:-11 4SS6 680 -11.0 2
»8 IMP: 2 EW:3 3NW4 430 20 1 & QJT8 IMP: 0 EW:11
4 AT863 » K2 5HXS-3 500 3.0 1 ||aT73 s J5
v J7 v 642 3HXN-3 -500 -3.0 1 v Q9876 I v J432
¢ AK3 * J96 ¢ 962 + QT8
& AJ6 » KQ954 » 76 & A953
¢V BN 4Q9754 % ¢ VAN 4 K842
N ~~~~~ v AT N 65~66 v5
S ~~~ -~ -~ ¢85 S 65~66 ¢ AK53
E 5~~41 &T732 E ~~~~~ » K42
W 5~~41 W ~~~~~
#3 » AQ3 4S5S4 -420 Mean: 4SS4 420 00 6 ||#4 » J96 4SE6 680 Mean: 5CW6 620 9.0 1
v 985 4S5S4 -420 420 v 93 6SW6 1430 -1030 4SE6 680 8.0 1
¢ KT73 Dif: 0 NS:0 + Q9765 Dif: -750 NS:-9 4HE6 680 8.0 1
& Q93 IMP: 0 EW:0 & 864 IMP: -13 EW:-8 6CW6 1370 -8.0 1
» K82 & AT54 & KQ72 6SW6 1430 9.0 2
v Q732 v AK2 + v QT65
¢ 65 ¢+ 43 ¢+ K
& A542 & AKT7 » QJ92
oo VAN 4,83
N ~~~~~ v J874
S ~~~~~ ¢ AJT82
E 6~562 &53
W 6 ~56 2
#5 & KJ8543 4HWG6 480 Mean: 5DE6 420 50 1 #6 ' 4HN-1 50 Mean: 5DN5 400 70 1
v Q 6DE7 940 -620 5HW6 480 40 1 v AJ8742 5DN5 -400 130  3SS5 200 2.0 1
*J4 Dif: -460 NS:-8 4HW6 480 40 1 + KQ954 Dif: 450 NS:7 3SS4 170 1.0 1
» QJ98 IMP: -10 EW:-4 4HW7 510 3.0 1 & A9 IMP: 10 EW:5 3HS3 140 00 1
62 A 6DE7 940 -80 2 ||as 63 # K8542 488-1 50 5.0 1
v AK9432 v T86 v T653 — v KQ9 4HN-1 -50 50 1
¢ T53 + AKQ972 * A2 ¢ J8
A & KT75 & KJT73 & 864
%o ¢ VAN 4ATI7 ¢ VAN 4 AQITI7
N ~~~~~ v J75 N~6~~1w
S ~~~~~ ¢ 86 S ~6~~1 ¢T763
E ~77~1 %6432 E ~~~~~ % Q52
W ~77-~1 W ~~~~~
#7 » AQ6 3NN3 -600 Mean: 3NN3 600 120 1 ||#8 » KT96 3NE3 400 Mean: 3NW-1 50 90 1
v J64 3NS-1100 -10  3NS- 100 -30 3 v J3 3NE4 430 -360 3NE3 400 1.0 1
+ KT654 Dif: -700 NS:-3 3NS-2 200 -50 2 ¢ 97 Dif: -30 NS:-2 3NW4 430 20 1
& K7 IMP: -12 EW:-12 & QJT65 IMP: -1 EW:1 3NE4 430 20 1
a J4 & T9732 a7 & AJ42 3NES -460 -3.0 1
v KT872 + v Qo3 v KQ52 v 987 INW6 490 40 1
¢ J7 * A92 ¢ AJ6543 ¢ KT8
& Q542 S » 63 » K2 » A93
%o ¢ VAN o KS85 o VAN 4, Q853
N 45~~4 9A5 N ~~~~~ v AT64
S 45~~2 +Q83 S ~~~~~ . Q2
E ~~~~~ & AJT98 E ~64~5 &874
W ~~~~~ W ~64~3
#9 & K8 3NN-3 150 Mean: 3NN-1 -50 20 2 (|#10 s T97 1HE5 200 Mean: 1HE5 200 120 1
v A964 3DS-2100 -100  3DS-2 4100 00 2 v Q874 6DE6 1370 -810  5DE6 620 50 2
+ AK85 Dif: 50 NS:0 3SE4 470 20 1 * J94 Dif: 1170 NS:-11 4HW6 680 4.0 1
» KT8 IMP: 2 EW:2 3NN-3 150 20 1 & AJ5 IMP: -15 EW:-12 6DW6 1370 -11.0 1
s T65 » AQJ42 » 864 » AK 6DE6 1370 -11.0 1
v KQT872 v v T93 _I_ v AKJ52
3 ¢ T642 + Q865 ¢ AKT73
& J753 » AQ64 » 763 » K
o VABN 4,973 %o VAN 4 QJS532
N ~1~~1 ¢J53 N ~~~~~ v6
S ~1~~~ ¢QJ973 S ~~~~~ *2
E 6~~5~ 92 E ~66~1 & QT9842
W6~~5~ W ~66~1
# 11 » QJT32 3NE3 400 Mean: 3NW-1 50 50 1 ||#12 » Q86 4HW6 480 Mean: 4HW6 480 8.0 2
w7 2HE2 110 -120  3NE-1 50 50 2 v 632 6HW6 980 -810 6HWS6 980 -5.0 4
¢ 83 Dif: 290 NS:0 2HE2 110 00 1 ¢ T6 Dif: -500 NS:-5
& JT763 IMP: 7 EW:7 3NE3 400 7.0 2 & 17642 IMP: -11 EW:-8
& K6 & A754 a4 & AK753
v K98643 vJ v KQJT94 | v 87
¢ 962 ¢ AQT5 ¢+ QJ5 ¢ AK872
& A8 » KQ54 » AQ9 a8
o VABN 4,9 * ¢ VAN o JT92
N ~~~~~ v AQT52 N ~~~~~ v A5
S ~~~~~ + KJ74 S ~~~~~ ¢ 943
E ~44~3 92 E ~66~6 &KJ53
W ~33~3 W ~66~6
#13 » KQJ2 3NN5 -660 Mean: 2SXW-3 800 40 1 # 14 4 T82 1NE2 120 Mean: 2SW2 110 1.0 1
v K85 2SXE-2 -500 640  3NN5 660 1.0 1 v 9873 2SE3 140 -140 1NE2 4120 1.0 1
¢ JT873 Dif: -160 NS:-4 3NN4 630 00 3 + AK Dif: -20 NS:0 2SE3 140 0.0 2
*Q IMP: -4 EW:-1 2SXE-2 500 -40 1 » 6543 IMP: -1 EW:-1  3SwW4 470 1.0 1
& AT854 ] # 63 » A643 & QJ95 2sw4 470 1.0 1
v T6 v J972 v J52 v AKT6
+ AKQ62 + * 54 + Q854 +J3
&3 » JT865 K9 & T82
¢ VABN 4,97 o ¢VABN 4 K7
N 3~3~3 vAQ43 N ~~~~~ v Q4
S 3~3~3 9 S ~~~~~ ¢ T9762
E ~~~~~ & AK9742 E ~~343 &AQJ7
W ~~~~~ W ~~343




113#FF >2ABERFHLE

==)> R7

7

#1: 3 [E£(90.08) #2: 2 FE(T5. 92) #3: 1 E(67.9)

6 NS: fal 5 Z5#EEAC) 8 1 NS: E}48 RRFR(BO) -9 14.64 : 5.36 Total VP: 66.68 Rank:
EW: #hER BB EI0) 9 EW: $E{_# MER(BAC) -8 IMP:| 41 : 24 4
— -
#1 aJ 4CE5 150 Mean: 4CE5 150 6.0 1 |[# 2 » AQ6 6NN6 -1440 Mean: 6SS6 1430 6.0 2
v KQ9853 5HXS-3 500 -380 5HXN-2  -300 2.0 1 v AKT 6SS6 -1430 1180 6NN6 1440 6.0 2
+ QT742 Dif: -350 NS:-3 5CE5 400 1.0 1 ¢ J74 Dif: -10 NS:6 4SS6 680 -11.0 2
»8 IMP: -8 EW:-6 3NW4 430 20 1 & QJT8 IMP: 0 EW:-6
4 AT863 » K2 5HXS-3 500 3.0 1 ||s T73 a J5
v J7 v 642 3HXN-3 -500 -3.0 1 v Q9876 I v J432
¢ AK3 * J96 ¢ 962 + QT8
& AJ6 » KQ954 & 76 & A953
¢V BN 4Q9754 % ¢ VAN 4 K842
N ~~~~~ v AT N 65~66 95
§ ~~~~~ ¢85 S 65~66 ¢ AK53
E 5~~41 &T732 E ~~~~~ &» K42
W 5~~41 W ~~~~~
#3 » AQ3 4S5S4 -420 Mean: 4SS4 420 00 6 ||#4 » J96 6CW6 1370 Mean: 5CW6 620 9.0 1
v 985 4S5S4 -420 420 v 93 6SW6 1430 -1030 4SE6 680 8.0 1
¢ KT73 Dif: 0 NS:0 + Q9765 Dif: -60 NS:-9 4HE6 680 8.0 1
& Q93 IMP: 0 EW:0 & 864 IMP: -2 EW:8 6CW6 1370 -8.0 1
» K82 & AT54 & KQ72 6SW6 1430 9.0 2
v Q732 v AK2 + v QT65
¢ 65 ¢+ 43 ¢+ K
& A542 & AKT7 » QJ92
oo VAN 4,83
N ~~~~~ v J874
S ~~~~~ ¢ AJT82
E 6~562 &53
W 6 ~56 2
#5 & KJ8543 6DE7 940 Mean: 5DE6 420 50 1 #6 ' 4SS-1 50 Mean: 5DN5 400 70 1
v Q 4HW7 510 -620 5HW6 480 40 1 v AJ8742 3SS4 -170 130  3SS5 200 2.0 1
*J4 Dif: 430 NS:3 4HW6 480 40 1 + KQ954 Dif: 220 NS:1 3SS4 170 1.0 1
» QJ98 IMP: 10 EW:8 4HW?7 510 3.0 1 & A9 IMP: 6 EW:5 3HS3 140 00 1
62 A 6DE7 940 -80 2 ||as 63 # K8542 488-1 50 5.0 1
v AK9432 v T86 v T653 — v KQ9 4HN-1 -50 50 1
¢ T53 + AKQ972 * A2 ¢ J8
A & KT75 & KJT73 & 864
%o ¢ VAN 4ATI7 ¢ VAN 4 AQITI7
N ~~~~~ v J75 N ~6~~1w
§ ~~~~~ + 86 S ~6~~1 ¢T763
E ~77~1 #6432 E ~~~~~ & Q52
W ~77-~1 W ~~~~~
#7 » AQ6 3NS-2200 Mean: 3NN3 600 120 1 ||#8 » KT96 3NW4 430 Mean: 3NW-1 50 90 1
v J64 3NS-1100 -10  3NS-1 100 -30 3 v J3 3NW-1-50 -360 3NE3 400 1.0 1
+ KT654 Dif: 100 NS:-3 3NS-2 200 -50 2 ¢ 97 Dif: 480 NS:9 3NW4 430 20 1
& K7 IMP: 3 EW:5 & QJT65 IMP: 10 EW:2 3NE4 430 20 1
a J4 & T9732 a7 & AJ42 3NES -460 -3.0 1
v KT872 + v Qo3 v KQ52 v 987 INW6 490 40 1
¢ J7 * A92 ¢ AJ6543 ¢ KT8
& Q542 S » 63 » K2 » A93
%o ¢ VAN o KS85 o VAN 4, Q853
N 45~~4 9A5 N ~~~~~ v AT64
S 45~~2 +Q83 S ~~~~~ * Q2
E ~~~~~ & AJT98 E ~64~5 &874
W ~~~~~ W ~64~3
#9 » K8 3NN-1 50 Mean: 3NN-1 -50 20 2 (|#10 s T97 5DE6 620 Mean: 1HE5 200 120 1
v A964 3SE4 170 -100  3DS-2 4100 00 2 v Q874 5DE6 620 -810 5DE6 620 50 2
+ AK85 Dif: -120 NS:-2 3SE4 470 20 1 ¢ J94 Dif: 0 NS:5 4HW6 680 4.0 1
» KT8 IMP: -3 EW:-2 3NN-3 150 20 1 & AJ5 IMP: 0 EW:-5 6DW6 1370 -11.0 1
s T65 » AQJ42 » 864 » AK 6DE6 1370 -11.0 1
v KQT872 v v T93 _I_ v AKJ52
3 ¢ T642 + Q865 ¢ AKT73
& J753 » AQ64 » 763 » K
o VABN 4,973 %o VAN 4 QJS532
N ~1~~1 ¢J53 N ~~~~~ vb6
S ~1~~~ ¢QJ973 S ~~~~~ *2
E 6~~5~ #92 E ~66~1 &QT9842
W6~~5~ W ~66~1
# 11 » QJT32 3NE3 400 Mean: 3NW-1 50 50 1 ||#12 » Q86 4HW6 480 Mean: 4HW6 480 8.0 2
w7 3NE-1-50 -120  3NE-1 50 50 2 v 632 6HW6 980 -810 6HWS6 980 -5.0 4
¢ 83 Dif: 450 NS:5 2HE2 110 00 1 ¢ T6 Dif: -500 NS:-5
& JT763 IMP: 10 EW:7 3NE3 400 7.0 2 & 17642 IMP: -11 EW:-8
& K6 & A754 a4 & AK753
v K98643 vJ v KQJT94 | v 87
¢ 962 ¢ AQT5 ¢+ QJ5 ¢ AK872
& A8 » KQ54 » AQ9 a8
o ¢VABN 498 oo VAN 4, JT92
N ~~~~~ v AQT52 N ~~~~~ v A5
S ~~~~~ + KJ74 S ~~~~~ ¢ 943
E ~44~3 92 E ~66~6 &KJ53
W ~33~3 W ~66~6
#13 » KQJ2 3NN4 -630 Mean: 2SXW-3 800 40 1 # 14 4 T82 3SW4 170 Mean: 2SW2 110 1.0 1
v K85 3NN4 -630 640  3NN5 660 1.0 1 v 9873 2SW2 110 -140  1NE2 4120 1.0 1
¢ JT873 Dif: 0 NS:0 3NN4 630 00 3 + AK Dif: 60 NS:1 2SE3 140 0.0 2
*Q IMP: 0 EW:0 2SXE-2 500 -40 1 » 6543 IMP: 2 EW:1 3sw4 470 1.0 1
& AT854 ] # 63 » A643 & QJ95 2sw4 470 1.0 1
v T6 v J972 v J52 v AKT6
+ AKQ62 + * 54 + Q854 *J3
&3 » JT865 K9 & T82
¢ VABN 4,97 o ¢VABN 4 K7
N 3~3~3 vAQ43 N ~~~~~ v Q4
S 3~3~3 9 S ~~~~~ ¢ T9762
E ~~~~~ & AK9742 E ~~343 &AQJ7
W ~~~~~ W ~~343




